Tableaux des Puissances de Dix (H)

Divisez le nombre de la rangée par celui de la colonne.

0,001 0,01 10 0,0001

81

92

29

80

97

10 000 0,01 0,1 0,001

96

82

74

89

38

0,001 0,0001 10 0,01

14

21

70

85

71

0,0001 1000 100 0,1

28

62

56

17

86
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Tableaux des Puissances de Dix (H) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 0,001 0,01 10 0,0001
81 81 000 8100 8,1 810 000
92 92 000 9200 9,2 920000
29 29 000 2900 2,9 290 000
80 80 000 8 000 8 800 000
97 97 000 9700 9,7 970 000
+ 10 000 0,01 0,1 0,001
96 0,0096 9600 960 96 000
82 0,0082 8 200 820 82 000
74 0,0074 7 400 740 74 000
89 0,0089 8900 890 89 000
38 0,0038 3 800 380 38 000
+ 0,001 0,0001 10 0,01
14 14 000 140 000 1,4 1400
21 21 000 210 000 2,1 2100
70 70 000 700 000 7 7000
85 85000 850000 8,5 8 500
71 71 000 710 000 7,1 7100
+ 0,0001 1000 100 0,1
28 280 000 0,028 0,28 280
62 620 000 0,062 0,62 620
56 560 000 0,056 0,56 560
17 170 000 0,017 0,17 170
86 860 000 0,086 0,86 860
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